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EXPLANATIONS
.. 8 [ % a=-104
Given matrix  [A] = |6 3 4 T sk 1(}:
1 B 5 Putting the l; i~ (i)
; uthing these valuesir equation (i), we get
Eliminating first column and expanding the e ~10 lx 1:?. 5?1113 _'w by
determinant of the given malrix, we have ; FASMS =
TLL) or -1® +10y -5z =
or 10x-10y+5z = 0
|l = |6 3 4 7| =0 or 2x-24+z = 0
2101 i
. Perpendicular distance of this plane from point
Therefore +{A) is less than 3. (3, -2, -1) will be,
i 4 7 .| 6+4-1 8
We cbserve that [ ] is a non-singular square = }* =3
01 mgar s Ja+4+1 3
Sub"mah:ix of Ordﬂl* 2- PR RSP I IV VTV IF N
Hence r{A)=2, =
By definition, the rank of a matrix is of the highest 111_9 — .
order non-singular square submatrix. 100KN | 50 mm | 100kN
: C
The general equation of a plane passing through so*m
three points will be F.B.D. of AB 250 kN 50kN
ﬂ{x—1'1]+b(y—y]]+r{z—z1} = 0 T 1
gmc‘-"t passing through (0,0, 0), therefore equation A .
ecomes, 100 mm 5G mm
ax+ by +cz =0 (i) lc B lc ¢
Again it is passes through, (1, 3 : ;
g gh, (1,3, 4)and (2, 1,- 2), 250 kN | 50 kN
a+3b+4c=0 . 250 x10° 2
: Hence stressin AB= ———— = 25 N/mm
and 20+ b=2p =0 100 % 100 _ /
By cross multiplication, we get EGo1? :
a and stress i - = J/mm?
-2 __. 2 ¢ RIS Sren AR

~6-4 " 4848 31-¢ = Alsay) 2
Maximum tensile stress = 25 N/mm¥
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